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2.6 - Handling product rule along with implicit differentiation.

27. x* —xy —y*=1, (2,1) (hyperbola)
28. x* + 2xy + 4y* =12, (2,1) (ellipse)
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2.8 - Related Rates

15. A street light is mounted at the top of a 15-ft-tall pole.
A man 6 ft tall walks away from the pole with a speed
of 5 ft /s along a straight path. How fast is the tip of his
shadow moving when he is 40 ft from the pole?
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25. Water is leaking out of an inverted conical tank at a rate
of 10,000 em”/min at the same time that water is being
pumped into the tank at a constant rate. The tank has height
6 m and the diameter at the top 1s 4 m. If the water level is
rising at a rate of 20 cm/min when the height of the water
is 2 m, find the rate at which water is being pumped into the
tank.
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Hasn't been totally written-up, yet.
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Math isn't a direct path to easy solutions. It's about trying, failing and
revising your results.
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